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 Missing Double Digits Multiplicands

Find the missing multiplicands

 -12 x -288=

-35  x 105=

 -2 x 80=

15  x -270=

 15 x -300=

-50  x -150=

 50 x -750=

-26  x 130=

 -30 x -390=

-46  x -138=

15  x -210=

 -6 x 96=

12  x -300=

 -17 x 289=

-10  x -250=

 -37 x -444=

-18  x -234=

 -16 x -160=

-23  x 230=

 -15 x 900=

-19  x 76=

 -7 x 210=

15  x -135=

 -2 x 70=

-20  x 400=

 -7 x -70=

45  x -90=

 -41 x 82=

20  x -220=

 -19 x -380=



Answers

Find the missing multiplicands

 -12 x -288=24

-35  x 105=-3

 -2 x 80=-40

15  x -270=-18

 15 x -300=-20

-50  x -150=3

 50 x -750=-15

-26  x 130=-5

 -30 x -390=13

-46  x -138=3

15  x -210=-14

 -6 x 96=-16

12  x -300=-25

 -17 x 289=-17

-10  x -250=25

 -37 x -444=12

-18  x -234=13

 -16 x -160=10

-23  x 230=-10

 -15 x 900=-60

-19  x 76=-4

 -7 x 210=-30

15  x -135=-9

 -2 x 70=-35

-20  x 400=-20

 -7 x -70=10

45  x -90=-2

 -41 x 82=-2

20  x -220=-11

 -19 x -380=20


